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Ideals for irreducible component#ﬂ)f Xpar

It = (—2u* — 5u® — 11u? + 9b — 14u — 1, —4u* —u® — 220> +9a — u + 7, u® + 6u> +u + 1)
=0 —u*4+a—u—2 u>+u>+2u+1)

* 2 irreducible components of dim¢ = 0, with total 8 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI} =
(—2u*t—5u®—11u?+9b—14u—1, —4u*—u®—22u?+9a—u+7, u®+6u+u+1)

(i) Arc colorings

o ()

0
a7 = u
1
a4 = —u?
§u4+§u3+~-~+$u—g
ao=\Fut+ o B
%u4—gu3—|—~- —?u—%
o= \Gur-Bu s du ]
I WSO
az = —§u4+§u3+—§u—§
—Uu
a6 = \u®+u
u? +1
as = \ —u* — 202
5,4 4 1,3 17, | 2
—2U +7u _i'_..._iu_i_f
o= (s DT
9 9 9 9
2,4 _ 4,8 ... _ 13, 8
I R A
pus Foutt -t guty
(ii) Obstruction class = —1

(iii) Cusp Shapes = 22u* — 243 4+ 8142 — Ly 4+ IF



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs wW—2ut + 20 +u—1
C2,Cg u® 4+ ut + 170 — 4u® + 20u — 8
C3,C4,Cg W46 +u—1
c7,C10 w —dut +u +5u +6u—1
Cs u® + 14u* + 53u® + 21u? + 46u + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs Y’ 6y +y—1
¢s, Co y° + 33y* + 337> + 680y* + 336y — 64
€3, C4, Co Y+ 12y 438y + 127 4y — 1
7, ¢10 y° — 1yt 4+ 53y3 — 21y + 46y — 1
Cs y® — 90y* + 2313y> + 4407y* + 2074y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
u= 0.238576 4 0.5717711
a = —1.43645 4 0.655031 —1.70245 — 1.373621 | —0.55634 + 3.019331

b= 0.029437 4 1.1405301

u= 0.238576 — 0.5717711

a = —1.43645 — 0.655031 —1.70245 4 1.373621 | —0.55634 — 3.019331
b= 10.029437 — 1.1405301

u = —0.446847

a = —0.331534 0.907840 11.5570

b = —0.380649

u = —0.01515 + 2.414551
a= 0.102214 — 1.0953201 16.0529 — 4.05691
b= 10.66089 — 3.963491

0.27760 + 1.886271

u = —0.01515 — 2.414551
a= 0.102214 + 1.0953201 16.0529 + 4.05691
b= 0.66089 + 3.963491

0.27760 — 1.886271




IL I = (b, v +a—u—2, u> +u?+2u+1)

(i) Arc colorings

ag =
ag —
as =
ayp =

wWHu+2
ag = 0

(ii) Obstruction class =1

(iii) Cusp Shapes = u? + 3u + 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u? —u? +1
Co, C9 u3
3 2
C3,C4 u’+u”+2u+1
s wu?—1
6 ud —u? 4 2u—1
C7 (u _ 1)3
3
€8, €10 (u+1)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs v -yt 2y —1
C2,C9 y3
3 2
€3,C4,Cp Yy +3y° +2y—1
3
C7,C8,C10 (y - 1)




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + v/=1CS)

Cusp shape

u = —0.215080 + 1.3071401
a= 0.122561 4+ 0.7448621
b= 0

—4.66906 — 2.828121

0.69240 + 3.359141

u = —0.215080 — 1.3071401
a= 0.122561 — 0.7448621

—4.66906 + 2.828121

0.69240 — 3.359141

b= 0

u = —0.569840

a= 1.75488 —0.531480 1.61520
b= 0




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u? —u? + 1) (u® — 2u* +2u® +u—1)
C2, Cg ud(u® 4+ ut + 170 — 4u® 4 20u — 8)
3, Cq (u® 4+ u® 4 2u + 1) (u® + 6u® +u — 1)
¢ (ud +u? — 1) (u® — 2u* +2u® +u—1)
6 (u —u? +2u — 1) (u® + 6u® +u — 1)
7 (u—1)*(u® — du® +u® + 5u® + 6u — 1)
c8 (u+ 1)3(u® + 14u* + 530> + 21u? 4 46u + 1)
10 (u+1)3(u’ — 4u* + u® + 5u® + 6u — 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
3 2 5 3
c1,¢s W=y +2y— 1" +6y° +y—1)
Ca, Cg v2(y° + 33y* + 337y 4 680y% + 336y — 64)
€3,C4,Co (> +3y% + 2y — 1)(y° + 120" + 38y° +12° +y — 1)
€7, C10 (y — 1)3(y® — 14y* + 53y° — 21y + 46y — 1)
C8 (y — 1)3(y° — 90y* + 2313y> + 4407y% + 2074y — 1)
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